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Latest Practice Question Alert Dear Carecrs\alley Reader.
As you would be knowing, you can expect
synonym questions on TCS placement papers.
The difficulty level can be considered moderate
if not difficult. Below are four sample synonyms
for you to practice. Answers are provided below
every question. (All the questions are of "fill the
blanks" type)

Find the greatest number of five digits, which is
exactly divisible by 7, 10, 15, 21 and 28

1)99840 2)99900 3)99960 4)99990

CLICK HERE TO Answer This Question On
CVParticipate Which Is A Discussion Forum

Supported By CareersValley
Placement Question 1

Weather in India often changes unpredictably and suddenly. Its mere -------- .
Options : a) caprice b) spontaneity c) randomness

Answer 1

option a) caprice. Caprice means sudden changes that are unmotivated. Though randomness is yet
another close match, caprice is widely used when talking about weather. Hence it wins the race.

Placement Question 2

The cases of economic recession immediately -------- a panic among most countrymen.
Options : a) catalyzed b) instigated c) spread

Answer 2

Option b) instigated. Instigated means being provoked. Hence it closely falls in context with the given
sentence and fits perfectly.

Placement Question 3

Though the petitioner was bit reluctant, he had to ---- with the judgement as it was the apex court.
Options : a) reject b) concur c) acquiesce

Answer 3

Option b) acquiesce. Acquiesce means to agree with a bit of reluctance. Hence it suits the blank perfectly
well.
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